Lior Silberman’s Math 101

4. THE FUNDAMENTAL THEOREM OF
CALCULUS (11/1/2017)

Goals.

) Review of definite integral
2) State and justify FTC I
3) Differentiate integrals
4) Deduce FTC II
9)

Compute integral using anti-derivatives.
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Last Time.

e The Integral as a limit of Riemann sums
e [valuating Integrals by definition
e [Lvaluating Integrals as areas
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Math 101 — WORKSHEET 4
THE FUNDAMENTAL THEOREM OF CALCULUS

(1) (Differentiating integrals) Evaluate
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(d) (Final 2014) Let f(z) = [ 100(¢% —3t+2)e " dt.
Find the mterval( ) on which f is increasing.
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Also tape Lrom prop 4 7 .
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(2) Evaluate using anti-derivatives,
(a) (Final 2012) [?242dz = S (1 &) oly
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(b) (Final 2007) [°, (2 — €) dz =
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